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434
434 is between D and D .
434 is closer to D than D .

434 rounds to D to the nearest 10.







We can use our knowledge of factors to help us solve 15 x 6.

We have __ lots of __ x __

The question becomes 3 x 5 x 6

How could you use this to work out the answer?
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00000000000
00000000000
00000000000
00000000000

10 x 4 1x4

Ten lots of 4 = One lot of 4 =

Eleven lots of 4 =

Use this method to solve:

1Mx4 = X4 + 4
215 31 x6 ] x 22

X4 + x4=11x4




Tenlotsof 2=__ Onelotof 2=__  Elevenlotsof 2=__

Mx2=_=__x2+2

_ X2+ _x2=11x2
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19 x 4

48 x 6
EhesS

2055

Use this method to solve:
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19 x 3=
when we round 1.9 to the nearest 10 it becomes 20.

DX 5 = 60

but we have to take 3 of the answer.




8 X4 =
when we around 28 to the nearest 10 (it becomes 30.

30 X4 =120
but we have to take g of the answer.
(2 x4 =8)




Class 4 are calculating 25 X 8 mentally.
Can you complete the calculations in each of the methods?

Method 1 Method 2
25x8=20x8+5x%x8 25x8 5

=10+_]) =)
33ssssssssssssssisss

+ 444+ttt 00++¢t‘
0¢++0+004 4

25x8=50x8+2
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Can you think of any other ways to mentally calculate 25 x 8?
Which do you think is the most efficient?
How would you calculate 228 X 5 mentally?

Teddy has calculated 19 X 3

20x 3=60
60-1=59
9x3=59

Can you explain his mistake and correct
the diagram?




Class 4 are calculating 25 X 8 mentally. Teddy has calculated 19 X 3

Can you complete the calculations in each of the methods?

Method 1 Method 2 0000000000 0OO00000

25x8=20x8+5X8 25X8=5x5x8 000000000000000000
n - Q000000000000 O0O000

=0 +{10 - oo
£3222222222222222222 20 x 3 =60
6 920020500250808008 -0 60 —1=59

2222222222802 2202228 20t WVxXI=50

Method 3 Can you explain his mistake and correct
25x8=25x10—-25x%x2 : the diagram?
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Can you think of any other ways to mentally calculate 25 x 8?
Which do you think is the most efficient?
How would you calculate 228 X 5 mentally?




There are 22 cartons of drink in each box.
How many drinks are there in 3 boxes?

Use this method to solve:
36x4
51x2
10x 18
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